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1. Which of the following are true?

a) The value of sinDis always less than 1
b) The value of tanD is always less than 1
c) If sinD=0,then cosD=1or cosD=-1
d) cosD is the abbrieviation for cosecD

e) The value of cotD is always less than 1

(i) {b,a} (i) {d,c} (i) {eb,a} (iv) {a,c} (v) {d,ca}

2. For angle values from 0° to 90°, which of the following are true?

a) The tangent value of the angle increases

b) The cotangent value of the angle increases

c) The product of the sine and cosine values remains a constant

d) The cosine value of the angle increases

e) The sine value of the angle increases

f) The sum of the squares of the sine and cosine values remains a constant

(i) {b,a} (i) {a,ef} (iii) {c,a,e} (iv) {d,b,f} (v) {ce}

3. Which of the following are true?

a) cos(E+ F) = COSE + cosF

b) sin(E+ F) = sinE + sinF

€) The cotangent of an angle is the reciprocal of the tangent of the angle.
d)tanE=tanX £

e) The cosecant of an angle is the reciprocal of the secant of the angle

f) The cosine value of an angle is the reciprocal of the sine of the angle.

(i) {fc} (i) {dec} (i) {c} (iv) {b,c} (v) {ac}

4. Which of the following are true?

a) cos(C+ D) = cosC + cosD

b) sin® = cos6 for all®

c) tan® = cotB for no value of 6

d) sin(C+ D) =sinC +sinD

e)tan(C+ D) =tanC + tanD

f) The value ofsin® increases as6@increases from0°to90°
g) The value ofcos® increases as6 increases from0° to90°

(i) {c.df} (i) {ef} (i) {af} (iv) {f} (v) {b,f}



5. Which of the following are true?

a)
2tanA
tan2A = >
1+tan A
b)
2tanA
tan2A = -
2
1 —-tan A
c) 2 2
Cos2A = cos A +sin A
d) 2 2
Cos2A = cos A —sin A
e) 2 2
sin2A = 2sin Acos A
f)

sin2A = 2sinAcosA

(i) {e,af} (i) {c,b,d} (iii) {b,df} (iv) {ab} (v) {cd}
6. Which of the following are true?

2 o2
cos84° = cos 42° + sin 42°

b)
2tan42°
tan84° = - >
1 + tan 42°
c)
2tan42°
tan84° = >
1 —tan 42°
d) | o2 2
sin84° = 2sin 42°cos 42°
e) 2 o2
c0s84° = cos 42° —sin 42°
f)

sin84° 2sind42°cos42°

(i) {a,c} (ii) {b,c,e} (iii) {cef} (iv) {d,af} (v) {be}



7. Which of the following are true?

9.

a)

(i)

1 —sin®
(secH —tane)2 =
1+ sinB
1 + sin®
(secH —tane)2 =
1 —sinB
cosO cosO
+ - = 2tan®

cosecH + 1 cosecH — 1

cosO cosO
+ = 2
1 —sin® 1+ sinB

1 + sin® cosO

+ - = 2secH
cos6 1+ sin®

{d,c} (i) {a,c,e} (iii) {b,a,c} (iv) {b,a} (v) {b,de}

Which of the following are true?

9)

secO 1 — cosecH
1 + cosecH secO
. 2 . 2
(sin® + cos®)™ + (sin® —cosB)™ = 2
3 .3 . .
cos 6 —sin B = (sin® + cosB)(1 — sinBcosH)
(sin® + cose)2 = 1+ sin26
3 .3 . .
cos 6 +sin B = (sin® + cosB)(1 — sinBcosB)
cosO 1 —sin®

1 + sin® cosB

(sin® — cose)2 = 1+ 5sin26

(i) {c,d} (i) {g,ae} (i) {b,d,ef} (iv) {cfb} (v) {ab}

R+S

IfR,S and Tare the interior angles of a triangle, then sin(

(i) si ('T) (i) (R) (iii) sinT (iv) si (R) (v) (T)
) sin(2) (i) cos(0) (i) sinT (iv) sin() (v) cos(]



10.

11.

12.

Which of the following are true?

a) tan28° = cot62°
b) sin54° = cos36°
C) sin33° = cos57°
d) cos40° = sin40°
e) sin39° = cos51°
f) sin53° = cos53°
g) sec22° = cosec68°

(i) {f,b} (i) {d,a} (i) {dfc} (iv) {ab,ce,g} (v) {deqg}

Which of the following are true?

a) tan90° is not defined
b) cot90° is not defined

¢) tan0° is not defined

d)

e) cosec90° is not defined
f) sec90° is not defined
g) cot0° is not defined

h) cosec0° is not defined

sec0° is not defined

(i) {d.eg} (i) {ba} (i) {af,g,h} (iv) {bha} (v) {cf}

Which of the following are true?

a
) 1
tan® =
coto
b
) 1
cosecH = -
sin®
C
) 1
cosb =
cosecH
d
) 1
cotB = -
secO
e
) 1
secb =
sin®
f
) 1
secb =
cosO

(i) {e,cf} (ii) {d,a,b} (iii) {d,b} (iv) {a,bf} (v) {c,a}



13.

14.

15.

16.

17.

18.

Which of the following are true?

a) cos45° =1
b) sin90° =1
C) cos90° =1
d) sin45° =1
e) sin0° =1
f) cos0° =1
g) tan0°® =1
h) tan90° =1

(i) {a,b} (i) {b,f} (i) {g,f,b} (iv) {d,eb} (v) {cf}

Which of the following are true?

a) cos90° =0
b) cos45° =0
c) sin45° =0
d) cos0° =0
e) sin0° =0
f) tan0° =0
g) tan90° =0
h) sin90° =0

(i) {d,g.,f} (i) {ce} (i) {aef} (iv) {hae} (v) {ba}

If s=cos® + sin®,t=cos6sinB then

(i) (s2=£2) =1 (i) (s2+£) =1 (i) s2 = (2t+1) (iv) 2 = (=2£+1) (V) (s2+£) =0

If x=co0s0 + sin6,y=cosO — sinBO then

(i) (x2+y%) =0 (i) (x¥2=y?) =2 (i) (X2+y%) =2 (V) (X¥2=)2) =1 (v) (x¥2+)?) =1

D (y2+2) = &2
b) 2y7=g2 sin26

c)( 2

2
y+2)" =g

¥ (-2 = &
() {abd} (i) {cab} (i) {cedt (v) {eb} (v {ca}

If g=wcosB + xsin® and A= wsin® — xcos0, then

(i) gh = wx (i) (g2+h%) = (W2+x2) (i) (W2+g?) = (X2+h?) (V) (g%—h?) = (

W2—X2)
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1) (iv) 2) (ii) 3) (iii) 4) (iv) 5) (iii) 6) (iii)
7) (ii) 8) (iii) 9) (v) 10) (iv) 11) (iii) 12) (iv)
13) (ii) 14) (iii) 15) (iii) 16) (iii) 17) (i) 18) (ii)
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